Welcome Bear Creek families to all things math!
Check here monthly for new ideas, tips, games and
even helpful videos 1o help you support your child at
home.

Cur goal at Bear Creek is for teachers, students
and parents to “show up” to help your child learn
and grow! Reach out if you ever have any questions!
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5 birds were in the tree
3 birds flow on the
branch. How many

II"’l- Addition Some birds were in the
| tree. 3 more birds flew
on the branch and now

5 birds were in the tree
Some birds flew on the
branch and now there
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only Unknown Product Group Size Unknown JNumber of Groups Unkno
S g 3x5=7 I5.58=7 15+5=7
Part There were 5 bluebirds | There are 8 birds in the | There are 8 birds in the T
i - There are 3 boxes : :
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Sara has 3 birds. Raina Sara has 3 birds. Raina Raina has 5 birds. She .
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has 5 birds. How many | has 2 fewer birds than | has 2 fewer birds than times as much as the costs $15. How many
fewer birds does Sara | Raina. How many birds | Raina. How many birds Compare § much as the book. :
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